$\qquad$

# Convergence of Weighted ( $\mathbf{0}, \mathbf{2} ; \mathbf{0}$ )-Interpolation on the Unit Circle 

S. Bahadur ${ }^{1}$, S. Bano ${ }^{2 *}$<br>${ }^{1}$ Dept. of Mathematics and Astronomy, Lucknow University, Lucknow, India<br>${ }^{2}$ Dept. of Mathematics and Astronomy, Lucknow University, Lucknow, India

*Corresponding Author: sariya2406@gtmail.com, Tel.: +91 8840252671

## Available online at: www.isroset.org

Received: 01/Dec/2018, Accepted: 16/Dec/2018, Online: 31/Dec/2018


#### Abstract

In this paper, we study the convergence of weighted Lacunary Pál-type interpolation on two pairwise disjoint sets of nodes obtained by projecting vertically the zeros of Legendre polynomial and its second derivative with boundary points of real line on the unit circle. Here the Lacunary data is prescribed on first set of nodes, whereas the Lagrange data on the other one.


Keywords- Legendre polynomial, Weighted interpolation, Pál-type interpolation, Explicit forms.

## I. INTRODUCTION

The problem of Lacunary interpolation was initiated by P . Turán [1] on the zeros of

$$
\prod_{n}(x)=\left(1-x^{2}\right) P_{n-1}^{\prime}(x)
$$

where $P_{n-1}(x)$ is the Legendre polynomial of degree ( $n-1$ ). The ( 0,2 ) - interpolation on the unit circle was initiated by O . Kiš [2], he established the convergence theorem for that interpolatory polynomial. After that several Mathematician considered $(0,2)$ - interpolation viz. on the unit circle, infinite interval and on the real line. H.P. Dikshit [3] considered Pál type interpolation on non - uniformly distributed nodes on the unit circle.In 1996, S. Xie [4] considered $(0,1,3)$ - interpolation on the vertically projected nodes onto unit circle. He obtained its regularity, explicit representation and convergence of the some sets of nodes. In 2011, author ${ }^{1}$ (with K. K. Mathur) [5] established a convergence theorem for the weighted $(0,2)^{*}$-interpolation on the unit circle. After that she (with M. Shukla) [6] considered $(0,2)$ - interpolation on the nodes which are obtained by projecting vertically the zeros of $\left(1-x^{2}\right) P_{n}^{(\alpha, \beta)}(x)$ on the unit circle, where $P_{n}^{(\alpha, \beta)}(x)$ stands for Jacobi polynomial, obtained the explicit forms and establish a convergence theorem for the same. Recently, authors [7] considered ( 0,2 ) - interpolation on the unit circle. Also, author ${ }^{1}[8,9]$ considered $(0 ; 0,2)$ and $(0,2 ; 0)-$ interpolation on the nodes by projecting vertically the zeros of $\left(1-x^{2}\right) P_{n}(x)$ and $P_{n}^{\prime}(x)$ onto the unit circle. In this paper we consider $(0,2 ; 0)$ - interpolation on two pairwise disjoint set of nodes on the unit circle, in which the Lagrange data is prescribed on the first set of nodes, whereas Lacunary data on the other one .We obtained regularity and explicit forms of interpolatory polynomials.

In this paper, we consider two pairwise disjoint set of the nodes $Z_{n}$ and $T_{n}$, such that

$$
\begin{align*}
& Z_{n}=\left\{\begin{array}{l}
z_{0}=1, \quad z_{2 n+1}=-1 \\
z_{k}=\cos \theta_{k}+i \sin \theta_{k} \\
z_{n+k}=\overline{Z_{k}}, k=1(1) n
\end{array}\right\}  \tag{1.1}\\
& T_{n}=\left\{\begin{array}{c}
t_{k}=\cos \varphi_{k}+i \sin \varphi_{k} \\
t_{n+k}=\bar{t}_{k}, k=1(1) n-2
\end{array}\right\} \tag{1.2}
\end{align*}
$$

be two set of nodes.
In section 2, we give some Preliminaries, in section 3, we present the explicit forms, in section 4 and 5 , we give estimates and convergence of weighted $(0,2 ; 0)-$ interpolation on the unit circle respectively.

## II. Related Work

Recently, authors [11] considered weighted ( $0 ; 0,2$ ) interpolation by projecting vertically the zeros of
$\left(1-x^{2}\right) P_{n}(x)$ and $P_{n}^{\prime \prime}(x)$ onto the unit circle, where the Lagrange data is prescribed on first set of nodes and the Lacunary data is on the other one.

## III. PRELIMINARIES

In this section, we shall give some well-known results, which we shall use.
The differential equation satisfied by $P_{n}(x)$ is

$$
\begin{equation*}
\left(1-x^{2}\right) P_{n}^{\prime \prime}(x)-2 x P_{n}^{\prime}(x)+n(n+1) P_{n}(x)=0 \tag{2.1}
\end{equation*}
$$

$$
\begin{equation*}
W(z)=\prod_{k=1}^{2 n}\left(z-z_{k}\right)=K_{n} P_{n}\left(\frac{1+z^{2}}{2 z}\right) z^{n} . \tag{2.2}
\end{equation*}
$$

(2.3) $R(z)=\left(z^{2}-1\right) W(z)$.
(2.4) $H(z)=\prod_{k=1}^{2 n-4}\left(z-t_{k}\right)=K_{n}^{*} P_{n}^{\prime \prime}\left(\frac{1+z^{2}}{2 z}\right) z^{n-2}$.

We shall require the fundamental polynomial of Lagrange interpolation based on the zeros of $W(z)$ and $H(z)$ are respectively given as

$$
\begin{equation*}
l_{k}(z)=\frac{W(z)}{\left(z-z_{k}\right) W^{\prime}\left(z_{k}\right)}, \quad k=1(1) 2 n . \tag{2.5}
\end{equation*}
$$

$$
\begin{equation*}
L_{k}(z)=\frac{H(z)}{\left(z-t_{k}\right) H^{\prime}\left(t_{k}\right)}, \quad k=1(1) 2 n-4 . \tag{2.6}
\end{equation*}
$$

$$
\begin{equation*}
J_{k}(z)=\int_{-1}^{z} t l_{k}(t) d t \tag{2.7}
\end{equation*}
$$

(2.8) $J(z)=\int_{-1}^{z} W(t) d t$,
which satisfies
(2.9) $J(-z)=-J(z)$.

$$
\begin{equation*}
W^{\prime}\left(z_{k}\right)=\frac{K_{n}}{2}\left(z_{k}^{2}-1\right) z_{k}^{n-2} P_{n}^{\prime}\left(x_{k}\right) . \tag{2.10}
\end{equation*}
$$

$$
\begin{equation*}
W^{\prime \prime}\left(z_{k}\right)=K_{n}\left[(n-1)\left(z_{k}^{2}-1\right)-1\right] z_{k}^{n-3} P_{n}^{\prime}\left(x_{k}\right) . \tag{2.11}
\end{equation*}
$$

(2.12) $H^{\prime}\left(t_{k}\right)=\frac{K_{n}^{*}}{2}\left(t_{k}^{2}-1\right) t_{k}^{n-4} P_{n}^{\prime \prime \prime}\left(x_{k}^{*}\right)$.

We will also use the following well known inequalities:
For, $-1<x<1$
(2.13) $\left(1-x^{2}\right)^{1 / 4}\left|P_{n}(x)\right| \leq \sqrt{\frac{2}{\pi}} n^{-1 / 2}$,
(2.14) $\left(1-x^{2}\right)^{3 / 4}\left|P_{n}^{\prime}(x)\right| \leq \sqrt{2} n^{1 / 2}$,
(2.15) $\left|P_{n}(x)\right| \leq 1$.

Let

$$
x_{k}=\cos \theta_{k}(k=1,2, \ldots \ldots, n)
$$

are the zeros of $n^{\text {th }}$ Legendre polynomial $P_{n}(x)$, with

$$
1>x_{1}>x_{2}>\ldots \ldots \ldots \ldots \ldots x_{n}>-1,
$$

then
(2.16) $\left(1-x_{k}^{2}\right)^{-1} \sim\left(\frac{k}{n}\right)^{-2}$,
(2.17) $\left|P_{n}^{(r)}\left(x_{k}\right)\right| \sim k^{-r-\frac{1}{2}} n^{2 r}, \quad r=0,1,2,3$.

For more details, one can see [10].

## IV. THE PROBLEM

Let $\left\{z_{k}\right\}_{k=0}^{2 n+1}$ and $\left\{t_{k}\right\}_{k=1}^{2 n-4}$ be two disjoint set of nodes obtained by projecting vertically the zeros of $\left(1-x^{2}\right) P_{n}(x)$ and $\mathrm{P}_{\mathrm{n}}^{\prime \prime}(\mathrm{x})$ onto the unit circle respectively, where $\mathrm{P}_{\mathrm{n}}(\mathrm{x})$ stands for $n^{\text {th }}$ Legendre polynomial. Here we are interested to determine the convergence of following polynomial $R_{n}(z)$ of degree $\leq 6 n-3$ satisfying the conditions

$$
\text { (3.1) }\left\{\begin{array}{lll}
R_{n}\left(z_{k}\right) & =\alpha_{k}, \quad k=0(1) 2 n+1 \\
{\left[p(z) R_{n}(z)\right]_{z=z_{k}}^{\prime \prime}} & =\beta_{k}, & k=1(1) 2 n \\
R_{n}\left(t_{k}\right) & =\gamma_{k}, & k=1(1) 2 n-4 .
\end{array}\right.
$$

where $\alpha_{k}, \beta_{k}$ and $\gamma_{k}$ are arbitrary complex constants and $p(z)$ is a weight function

$$
p(z)=z^{-\left(n^{2}+n+2\right) / 2}\left(z^{2}-1\right)^{9 / 2}\left(z^{2}+1\right)^{-\{2-n(n+1)\} / 2} .
$$

## V. EXPLICIT REPRESENTATION OF INTERPOLATORY POLYNOMIALS

We shall write $R_{n}(z)$ satisfying (3.1) as

$$
\begin{align*}
R_{n}(z)=\sum_{k=0}^{2 n+1} \alpha_{k} A_{k}(z) & +\sum_{k=1}^{2 n} \beta_{k} B_{k}(z)  \tag{4.1}\\
& +\sum_{k=1}^{2 n-4} \gamma_{k} C_{k}(z)
\end{align*}
$$

where $A_{k}(z), B_{k}(z)$ and $C_{k}(z)$ are unique polynomial, each of degree at most $6 n-3$ satisfying the conditions :

For $k=0(1) 2 n+1$

$$
\text { (4.2) }\left\{\begin{array}{llr}
A_{k}\left(z_{j}\right) & =\delta_{j k}, & j=0(1) 2 n+1 \\
{\left[p(z) A_{k}(z)\right]_{z=z_{j}}^{\prime \prime}} & =0, & j=1(1) 2 n \\
A_{k}\left(t_{j}\right) & =0, & j=1(1) 2 n-4
\end{array}\right.
$$

For $k=1(1) 2 n$
(4.3) $\left\{\begin{array}{clc}B_{k}\left(z_{j}\right) & =0, & j=0(1) 2 n+1 \\ {\left[p(z) B_{k}(z)\right]_{z=z_{j}}^{\prime \prime}} & =\delta_{j k}, & j=1(1) 2 n \\ B_{k}\left(t_{j}\right) & =0, & j=1(1) 2 n-4 .\end{array}\right.$

For $k=1(1) 2 n-4$
(4.4) $\left\{\begin{array}{llc}C_{k}\left(z_{j}\right) & =0, & j=0(1) 2 n+1 \\ {\left[p(z) C_{k}(z)\right]_{z=z_{j}}^{\prime \prime}} & =0, & j=1(1) 2 n \\ C_{k}\left(t_{j}\right) & =\delta_{j k}, & j=1(1) 2 n-4 .\end{array}\right.$

Theorem 4.1: For $k=1(1) 2 n-4$, we have

$$
\begin{align*}
C_{k}(z)= & \frac{R(z) W(z)}{R\left(t_{k}\right) W\left(t_{k}\right)} L_{k}(z)  \tag{4.5}\\
& +\frac{H(z) W(z)}{R\left(t_{k}\right) W^{2}\left(t_{k}\right) H^{\prime}\left(t_{k}\right)}\left\{S_{k}(z)+c_{1 k} J(z)\right\}
\end{align*}
$$

where
(4.6) $S_{k}(z)=\int_{-1}^{z} \frac{\left(t_{k}^{2}-1\right) W(t) W^{\prime}\left(t_{k}\right)}{\left(t-t_{k}\right)} d t$

$$
-\int_{-1}^{z} \frac{\left(t^{2}-1\right) W^{\prime}(t) W\left(t_{k}\right)}{\left(t-t_{k}\right)} d t
$$

(4.7) $c_{1 k}=-\frac{S_{k}(1)}{J(1)}$,
and $J(z)$ is defined in (2.8).
Theorem 4.2: For $k=1(1) 2 n$, we have
(4.8) $B_{k}(z)=b_{k} W(z) H(z)\left\{J_{k}(z)+b_{1 k} J(z)\right\}$,
where
(4.9) $b_{k}=\frac{1}{2 z_{k} p\left(z_{k}\right) W^{\prime}\left(z_{k}\right) H\left(z_{k}\right)}$,
(4.10) $b_{1 k}=-\frac{J_{k}(1)}{J(1)}$,
$J_{k}(z)$ defined in (2.7).

Theorem 4.3: For $k=1(1) 2 n$, we have
(4.11) $A_{k}(z)=\frac{\left(z^{2}-1\right) H(z)}{\left(z_{k}^{2}-1\right) H\left(z_{k}\right)} l_{k}^{2}(z)$

$$
\begin{aligned}
& +\frac{H(z) W(z)}{\left(z_{k}^{2}-1\right) H\left(z_{k}\right) W^{\prime}\left(z_{k}\right)}\left\{T_{k}(z)+a_{1} J(z)\right\} \\
& +a_{k} B_{k}(z)
\end{aligned}
$$

where

$$
\begin{align*}
& T_{k}(z)=-\int_{-1}^{z}\left(t^{2}-1\right) \frac{\left\{l_{k}^{\prime}(t)-l_{k}^{\prime}\left(z_{k}\right) l_{k}(t)\right\}}{\left(t-z_{k}\right)} d t  \tag{4.12}\\
& a_{1}=-\frac{T_{k}(1)}{J(1)} \tag{4.13}
\end{align*}
$$

(4.14) $a_{k}=-\frac{\left\{\left(z^{2}-1\right) p(z) H(z)\right\}_{z=z_{k}}^{\prime \prime}}{\left(z_{k}^{2}-1\right) H\left(z_{k}\right)}$

$$
\begin{aligned}
& -4 p\left(z_{k}\right) l_{k}^{\prime}\left(z_{k}\right) \frac{W^{\prime}\left(z_{k}\right)}{\left(z_{k}^{2}-1\right)} \\
& -4 p\left(z_{k}\right) l_{k}^{\prime 2}\left(z_{k}\right)
\end{aligned}
$$

For $k=0$ and $2 n+1$, we have

$$
\begin{align*}
& \text { (4.15) } A_{0,0}(z)=\frac{W(z) H(z)}{W(1) H(1)} \frac{\int_{-1}^{z} W(t) d t}{\int_{-1}^{1} W(t) d t}  \tag{4.15}\\
& \text { (4.16) } A_{0,2 n+1}(z)=\frac{W(z) H(z)}{W(-1) H(-1)} \frac{\int_{z}^{1} W(t) d t}{\int_{-1}^{1} W(t) d t}
\end{align*}
$$

## VI. ESTIMATION OF FUNDAMENTAL POLYNOMIALS

LEMMA: $A_{k}(z), B_{k}(z)$ and $C_{k}(z)$ be defined in section 4. Then for $|z| \leq 1$, we have
(5.1) $\sum_{k=0}^{2 n+1}\left|p(z) A_{k}(z)\right| \leq c n^{2} \log n$,
(5.3) $\sum_{k=1}^{2 n-4}\left|p(z) C_{k}(z)\right| \leq c n^{2} \log n$,
where $c$ is a constant independent of $n$ and $z$.
PROOF: Using the conditions from (2.10) - (2.17), we get the result.

## VII. CONVERGENCE

In this section, we prove the main Theorem
THEOREM: Let $f(z)$ be continuous for $|z| \leq 1$ and analytic for $|z|<1$. Let the arbitrary numbers $\beta_{k}$ 's be such that
(6.1) $\left|\beta_{k}\right|=O\left(n^{2} \omega\left(f, \frac{1}{n}\right)\right), \quad k=1(1) 2 n-4$.

Then $\left\{Q_{n}(z)\right\}$ defined by
(6.2) $\quad Q_{n}(z)=\sum_{k=0}^{2 n+1} f\left(z_{k}\right) A_{k}(z)+\sum_{k=1}^{2 n} \beta_{k} B_{k}(z)$

$$
+\sum_{k=1}^{2 n-4} f\left(t_{k}\right) C_{k}(z)
$$

satisfies the relation,

$$
\begin{equation*}
\left|p(z)\left\{Q_{n}(z)-f(z)\right\}\right|=O\left(\omega\left(f, n^{-1}\right) \log n\right) \tag{6.3}
\end{equation*}
$$

where $\omega\left(f, n^{-1}\right)$ be the modulus of continuity of $f(z)$.
To prove the theorem, we shall need the followings:
REMARK: Let $f(z)$ be continuous for $|z| \leq 1$ and analytic for $|z|<1$ and $f^{\prime \prime} \in \operatorname{Lip} \alpha, \alpha>0$, then the sequence $\left\{Q_{n}(z)\right\}$ converges uniformly to $f(z)$ in $|z| \leq 1$, which follows from (6.3) as
(6.4) $\omega\left(f, n^{-1}\right)=O\left(n^{-2-\alpha}\right), \alpha>0$.

There exist a polynomial $F_{n}(z)$ of degree $\leq 6 n-3$ atisfying Jackson's inequality
(6.5) $\left|f(z)-F_{n}(z)\right| \leq c \omega\left(f, n^{-1}\right), z=e^{i \theta}(0 \leq \theta<2 \pi)$.

And also an inequality due to O . $\mathrm{Ki} \check{s}$ [2].
(6.6) $\left|F_{n}^{(m)}(z)\right| \leq c n^{m} \omega\left(f, n^{-1}\right), m \epsilon I^{+}$.

PROOF: Since $Q_{n}(z)$ be is uniquely determined polynomial of degree $\leq 6 n-3$ and the polynomial $F_{n}(z)$ satisfying (6.5) and (6.6) can be expressed as

$$
\begin{gathered}
F_{n}(z)=\sum_{k=0}^{2 n+1} F_{n}\left(z_{k}\right) A_{k}(z)+\sum_{k=1}^{2 n} F_{n}^{\prime \prime}\left(z_{k}\right) B_{k}(z) \\
+\sum_{k=1}^{2 n-4} F_{n}\left(t_{k}\right) C_{k}(z)
\end{gathered}
$$

Then

$$
\begin{aligned}
\left|p(z)\left\{Q_{n}(z)-f(z)\right\}\right| & \leq\left|p(z)\left\{Q_{n}(z)-F_{n}(z)\right\}\right| \\
& +|p(z)|\left|\left\{F_{n}(z)-f(z)\right\}\right| \\
& \leq \sum_{k=0}^{2 n+1}\left|f\left(z_{k}\right)-F_{n}\left(z_{k}\right)\right|\left|p(z) A_{k}(z)\right| \\
& +\sum_{k=1}^{2 n}\left\{\left|\beta_{k}\right|+\left|F_{n}^{\prime \prime}\left(t_{k}\right)\right|\right\}\left|p(z) B_{k}(z)\right| \\
& +\sum_{k=1}^{2 n-4}\left|f\left(t_{k}\right)-F_{n}\left(t_{k}\right)\right|\left|p(z) C_{k}(z)\right| \\
& +|p(z)|\left|F_{n}(z)-f(z)\right|
\end{aligned}
$$

using (6.1), (6.4) - (6.6) and Lemma in section 5, we get (6.3).

## VIII. Conclusion and Future Scope

In this paper, we defined the weighted Pál-type interpolation on two disjoint sets of nodes which convergence uniformly to $f^{\prime \prime} \in \operatorname{Lip} \alpha, \alpha>0$.

## ACKNOWLEDGMENT

The authors are extremely thankful to the Editor-in -chief and reviewers of their comments and suggestions for improving the paper.

## References

[1] J. Suranyi and P. Turán, "Notes on interpolation I", Acta. Math. Acad. Sci. Hunger, Vol. 6, pp. 67-79, 1995.
[2] O. Kiš, "Remarks on Interpolation (Russian)", Acta. Math. Acad. Sci. Hungar, Vol. 11, pp. 49-64, 1961.
[3] H.P. Dikshit, " Pál - type Interpolation on Non - Uniformly Distributed Nodes on the Unit Circle", Journal of computational and Applied Mathematics, Vol. 155, Issue 2, pp. 253-261, 2003.
[4] S. Xie, " $(0,1,3)$ interpolation on unit circle, Acta. Math. Sinica", Vol. 39, Issue 5, pp. 690-700, 1996.
[5] S. Bahadur and K. K. Mathur, "Weighted (0,2)*-interpolation on unit circle", International Journal of Applied Mathematics and Statistics, Vol. 20, Issue M11, pp. 73-78, 2011.
[6] S. Bahadur and M. Shukla, " $(0,2)$ - Interpolation on Unit Circle ", International Journal of Advancements in Research and Technology, Vol. 3, Issue 1, 2014.
[7] S. Bahadur and S. Bano, "On Weighted (0,2) - Interpolation", Global Journal of Pure and Applied Mathematics, Vol. 13, Issue 2, pp. 319-329, 2017.
[8] S. Bahadur, "Pál - type $(0 ; 0,2)$ - Interpolation on the Unit Circle", Int. J. Math. Sci., Vol. 11, no. 1-2, pp. 103-111, 2012.
[9] S. Bahadur, "(0, 2; 0)- Interpolation on the Unit Circle", Italian Journal of Pure and App. Math., Vol. 32, pp. 57-66, 2014.
[10] G. Szegö, "Orthogonal Polynomial", Amer. Math. Soc. Coll. Publication, pp. 159-190, 1959.
[11] S. Bahadur and S. Bano,"On Weighted Pál Type (0,2)Iterpolation on the Unit Circle", (communicated.)

## AUTHORS PROFILE

Dr. S. Bahadur did her Ph.D. in Mathematics in 1998 from Lucknow University, Lucknow. She is currently working as an Assistant Professor in Department of Mathematics and Astronomy, Lucknow University, Lucknow. She is a life member of Bharat Ganita Parishad. She has published more than 30 research papers in reputed international journals. Her main research work focuses on Interpolating Polynomials.

Ms S. Bano pursed B.Sc. and M. Sc. (Mathematics) from Lucknow University, Lucknow in 2012 and 2014. She is pursuing Ph.D. in Mathematics from the Department of Mathematics and Astronomy, Lucknow University, Lucknow. She has published more than 5 research papers in reputed international and national journals.

